Efficiency vs Dxy(PV)
0.1

0.0
x

Ratio

OB E=50-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TTbase

—e— DQM_mkFit_TT_retrainOldFiles125

—+— DQM_mkFit_TT_retrainNewFiles125

I Efficienc| —— DQM_mkFit_TT_retrainNewFiles125AndSQCD

< 0.5

g
Soa
X

o

o

efficiency vs d
o
w

o
)

0.

'-1-0.8-0.6-0.4-0.2 0 0.20.4 0608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

< [ N
o L :
¥ I :
e 1— ---------------------- q;,-: ------------
> I .
z
(8] L
© 0B
L r
e I
s [
06-_ ............ L [
04:— ............ [ £ R | S - [ —
02:— ........... L o | -
° 10' i i i i
T
14
0¥36 =20 -0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

efficiency vs dz(PV)
o
® e

o
e

o
»




	Contents
	Page 1


